

$$\Delta u(x) = 0$$

$$u(x) = v(\|x - \beta\|), \quad \|x - \beta\| = r$$

$$u(x) = v(r) \quad r = \left( (x_1 - \beta_1)^2 + \dots + (x_n - \beta_n)^2 \right)^{1/2} = (r^2)^{1/2}$$

$$\frac{\partial u}{\partial x_i} = v'(r) \frac{\partial r}{\partial x_i} = v'(r) \frac{1}{2} (r^2)^{-1/2} \cdot 2(x_i - \beta_i) = v'(r) \frac{(x_i - \beta_i)}{r}$$

$$\frac{\partial^2 u}{\partial x_i^2} = v''(r) \frac{\partial r}{\partial x_i} \frac{(x_i - \beta_i)}{r} + v'(r) \frac{r - (x_i - \beta_i) \frac{\partial r}{\partial x_i}}{r^2} =$$

$$= v''(r) \frac{(x_i - \beta_i)}{r} \frac{(x_i - \beta_i)}{r} + v'(r) \frac{r - \frac{(x_i - \beta_i)(x_i - \beta_i)}{r}}{r^2} =$$

$$= v''(r) \frac{(x_i - \beta_i)^2}{r^2} + v'(r) \frac{r^2 - (x_i - \beta_i)^2}{r^3}$$

$$\Delta u(x) = v''(r) \frac{r^2}{r^2} + v'(r) \frac{nr^2 - r^2}{r^3} =$$

$$= v''(r) + v'(r) \frac{n-1}{r}$$

$$v''(r) + v'(r) \frac{n-1}{r} = 0, \quad v'(r) = z(r)$$

$$z'(r) + z(r) \frac{n-1}{r} = 0, \quad \frac{z'(r)}{z(r)} = \frac{1-n}{r}$$

$$\int \frac{z'(r)}{z(r)} = (1-n) \int \frac{1}{r} = \int r^{1-n}$$

$$z(r) = r^{1-n}$$

$$v'(r) = r^{1-n} \begin{cases} n=2 & v(r) = \int r^{-1} \\ n \geq 3 & v(r) = \frac{r^{2-n}}{2-n} \end{cases}$$

Base de soluciones de  $v''(r) + v'(r) \frac{n-1}{r} = 0$   $\begin{cases} n=2 & \{1, \int r^{-1}\} \\ n \geq 3 & \{1, \frac{r^{2-n}}{2-n}\} \end{cases}$

